iimkidunya

Sr Questions Answers Choice
1/T
1 = S5 A o S - l9

1
\/(1/g)
kx

bk

2 = i € K

3 = s Y o 0 S Ot Odise Sl Jans

4 € Ua S Lo Sl S dipdise S S Jupsm A i)
5 = oans S S Sz e

6 915 U 55 el (g0 AUS 5 S a5 o (028 S 5

7 O o S ol

AON=

i o S g

5 G e S g
SR A SRS
St o) Jaes

[N

Id
c

\ ﬁ/\\

8 e Gl 2 s el e LS 58 sen 50 Gl s s ke S

= S o )4455)-“
9 oS g e o Sdee 0SS posm
C-.ud é uuSJ D) M
90

91

92
93

10 S8 oy (S sland (S iy S o) 5 o US gl IS B (5500 92) sty o

Uow» UOowP» UDOWr DOWP» UOWr OOW» OO0Wr ODOWwrPr CUOWwr OO

A.‘,E_C"\é;eshﬂ
" S8 st Sl (S G gndl Gl any S 38 0 s 00 S Y iy (S gl a puaiia S g:lf};—%v@‘
D. i ot FS e
A.lS:\AA}J.ﬂ
B
C

12 S8 50 LS Ly ned Sl S Gl 55 o S s S W oSl el Sl s e



